10.

11.
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All travel restrictions for the Indian and Foreign tourists to Nagaland and Manipur were
lifted from the beginning of the year :

(A) 1998 (B) 2004 (C) 2007 (D) 2011

Who of the following led the Chittagong Armoury Raid ?
(A) Jatin Das (B) Surya Sen {C) Sukh Dev (D) Rajguru

The chemical name of bleaching powder is :
(A) Sodmum carbonate {B) Calcium carbonate
(C) Calcium Hydroxide (D) Calcium oxychloride

The Governor of Bengal Stanley Jackson was shot at in public by a girl student of the Calcutia
University. Who was she ?

(A) Pritiata Bose (B) Bina Das (C) Algana Dutt (D) Jayasri Basu

Which session of the Indian National Congress was presided - over by Mahatma Gandhi ?
(A) Belgaum (B) Sevagram (©) Jaipur (D) Amritsar

A dockyard of the Indus Valley Givilization was located at :
(A) Rangpur (B) Kalibangan (C) Lothal (D) Dholavira

Rawat are a major tribe in:
(A) Gujarat (B) Uttar Pradesh
(C) Madhya Pradesh (D) Rajasthan

In which year RowLratt Act was passed ?
(A) 1916 (B) 1917 (© 1918 (D) 1919

The rank of the different ministers in the Union Council of ministers is determined by :
(A) Lok Sabha Speaker (B)  Cabinet Secretary

(C) President (D) Prime Minister

In which year ‘Hind Swaraj’ was written by Gandhi ?

(A) 1907 (B) 1908 (C) 1909 (D) 1910

The state which leads in the production of wheat in India is :
(A) Uttar Pradesh (B) Punjab (C) Haryana (D) Madhya Pradesh
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12, Fill the gap with suitable word.
B3D, ,H9L, K12 M
(A) E3G B) Ee6G (C) E7G (D)
13. In which year the ‘congress socialist party” was formed ?
(A) 1931 (B) 1932 (C) 1933 (D)
14. A galvanometer is an instrument that can be used to measure :
(A) Voltage (B)y Current (C) Resistance (D)
|
' 15. The state flower of Nagaland is :
(A) Lily (B) Rhododendron (C) Ashoka (D)
16. In which inscription Ashoka declared that “All men are my children” ?
| (A) Maski (B) Jaugada (C) Erragudi (D)
17. I x°+512=(x+2) (ag+ax+ax? + ... + agd¥),
then
agFa;+agF +ag=
512 511 513
(A) =5 (B) 3~ <@ (D)
18. Find the 20® term of a given series :
2:7,12, ...
(A) 22 (B) 47 Q) 72 (D)
19. There are wildlife sanctuaries and national parks in District :
(A} Kohima (B) Tuensang (C) Dimapur (D)
20. Textile industries are more on :
(A) Western coast (B) [Eastern coast
(C) Central India (D) North Western India
21. Bhima is a Tributary of :
{A) Godavan (B) Krishna (C) Cauvery (D)
22. In Nagaland, the literacy percent is :
(A) 60 (B) 70 (C) 80 (D)
B 3
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24,

25,

26.

27.

28.

29

30.

31.

Which one of the following brings out the publication called ‘Energy Statistics’ from time to
time ?

(A) Planning Commission (B)  Central Statistical Organisation

(C) Central Power Research Institute (D) Power Finance Corporation Ltd.

Kundankulam is a :
(A) Oil refinery (B) Thermal Power Plant
(C) Hydro Electric Project (D) Atomic Power Station

The Nagaland Sugar Mill, having an installed capacity of 1,000 tonnes per day is situated
in:

{A) Dimapur (B) Kohima (C) Mokokchung (D) Tuensang

In Nagaland, Ahuna is a cultural festival of -
(A) Konyak Naga (B) Angami Naga (C) Ao Naga (D) Sema Naga

Project Tiger in India was launched in the year :
(A) 1956 (B) 1976 () 1973 (D) 2003

The area of Lok Sabha constituency for the purpose of general election is determined
by the :

(A) Election commission of India (B) President
(C) Speaker of Lok Sabha (D) Delimitation commission

The least distance of distinct vision of a young adult with normal vision is about :
(A) 25 mtrs. (B) 2.5 mtrs. (€) 25 cms. (D) 2.5 cms.

The ratio of the areas of two similar triangles is equal to
(A) The square of the ratios of their corresponding sides.
(B) The ratio of their corresponding sides,

(C) The ratio of their corresponding angles.

(D) Square of the ratio of their corresponding angles.

Dandi March was part of which movement of Nationalist struggle ?
(A) Home Rule Movement (B) Non-Cooperation Movement
(C) Civil Disobedience Movement (D) Civil India Movement
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32. Who was known as the Rani or Queen of the Nagas during the British Period ?
(A) Muivah (B) Gaidinliu (C) Isaak (D) A.Z Pizo

33. Name the first Indian selected to Indian Civil Services.
(A) Anandamohan Bose (B) Satyendranath Tagore
(C) Gurudas Banarjee (D) Gautam Chattopadhyay

34. Where should an object be placed in front of a convex lens to get a real image of the size of
the object ?

(A) At the principal focus of the lens

(B) At twice of the focal length

(C) At infinity

(D) Between the optical centre of the lens and its principal focus

35. E-mail stands for :
(A) Easy mail (B) Efficient mail (C) Electronic mail (D) Electric mail

36. Who among the following Viceroy’s passed the libert bill ?
(A) Lytton (By Rippon (C) Dufferin (D) Curzon

37. Which of the following places is famous for Rock cut structures of the Pallavas ?
(A) Kanchi (B) Chidambaram (C) Mahabalipuram (D) Kumbakonam

38. The parliament of India can make use of the residuary powers :
(A) atall times (B) during national emergency
h (C) during constitutional emergency (D) during financial emergency

39. The first Buddhist Council was presided by :
(A) Mogaliputtatissa (B) Mahakassapa
(C) Anande (D) Upali

40. Physical components of a computer system are called :
(A) Software (B) Hardware (C) bits (D) bytes

41. The Planning Commission was setup in the year :
(A) 1950 (B) 1951 (C) 1952 (D) 1947

B 5 SCSP-14
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42. The kidneys in human beings are a part of the system for :
(A) nutrition (B) respiration (C)  excretion (D) transportation
43. The major land use pattern in Nagaland is :
(A) Jhum (B) Terraced cultivation
(C) Crop rotation (D) None of these
44. Per Capita Income in Nagaland in the year 2013
(A) Equal to the average for India (B) Higher than the average for India
(C) Lower than the average of India (D) Cannot estimate
45.  Majority of the people in Nagaland are :
(A) Hindus (B) Muslims (C) Christians (D)  Buddhists
46. The Rajya Sabha was first constituted on -
(A) May 13,1952 (B) April 2, 1954  (O) April 3, 1952 (D) January 1, 1951
47. People of Negrito Race have migrated from :
(A) Malaysia (B) Indonesia (C) Afganistan (D) Turkey
48. Mount saramati is the highest peak in Nagaland with a height of :
(A) 3,840 meters (B) 4,210 meters
\ () 3,340 meters (D) 3,280 meters
49. Class VI towns and urban agglomeration have population range of :
(A) Less than 5,000 (B) 5,000 - 9,999
(C) 10,000 - 19,999 (D) above 20,000
50. The Union President can direetly disallow a state legislation.
(A) In case of any bill
(B) In case of money bill
(C) I case of bills reserved by Governor for President’s assert
(D) Both (B) and (C) above
51.  In Nagaland, the highest population-density is in district :
(A) Kohima (B) Mokokchung (C) Mon (D) Dimapur
SCSP-14 6
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52. Which of the following angles does not fit into the sequence ?
60°, 90°, 108°, 120°, 139°
(A) 120° (B) 139° (€ 108° (D) 90
53, The famous work on Music ‘Man Kutuhal’ was prepared by :
{A) Raja Jai Singh (B} Raja Man Singh
(C) Raja Ajay Singh (D) Raja Madan Singh
54.  The chemical name of vinegar, which is widely used as a preservative in pickles, is :
(A) Acetic Acid (B) Alcohol (C) Propanol (D) Propene
55. Who among the following was a Russian ?
(A) Di Varthema (B) Barbora
(C) Nikitin (D) Ceaser Frederich
56. Inclusive growth as enunciated in the Eleventh Five year plan does not include one of the
following :
(A) Reduction of poverty (B) Extension of employment opportunities
(C) Strengthening of capital market (D) Reduction of gender inequality
57.  Two conical flasks, A and B are painted with black and white colours respectively. They are
filled with water and kept for an hour in sunlight, then the temperature of water in A and B
flasks will be :
(A) Same (B) A has greater than B
(C) B has greater than A (D) No change
58. Red shirts were the band of supporters of :
(A) Jinna {B) Mohd. Ali
(C) Khan Abdul Gafar Khan (D) Aga Khan
59. Which one of the following is responsible for the preparation and presentation of Union
Budget to the parliament ?
(A) Department of Revenue (B) Depariment of Economic Affairs
(C) Department of Financial Services (D) Department of Expenditure
60. The pension of a High Court Judge is charged 1o :
(A) Consolidated Fund of India
(B) Consolidated Fund of State where he last served
(C) Consolidated Funds of the different states where he has served
(D) Contigency fund of India
B 7 SCSP-14
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61.

62.

63.

65.

66.

67.

69.

Who among the following renounced knighthood in protest against Jalianwala Bagh Killing.
(A) Tilak (B) Gandhi
(C) Rabindranath Tagore (D) Motilal Nehru

Who among the following was not a founder member of Muslim League in 1906 ?
(A) Mohsin-ul-Mulk (B) Salimullah
(C) M.A. Jinnah (D) Aga Khan

CEIE
(A) 1 (B 3 < 9 D) -9

Normal onset of monsoon is completed by :
(A) 10% June (B) 15 June (©) 1% July (D) 15* July

Parliament’s expenditure is controlled by :
(A) Finance commission (B) President
(C) Speaker (D) Comptroller and Auditor General

The xylem in plants are responsible for :
(A) transport of water (B) transport of food
(C) transport of amino acids (D) transport of oxygen

V\'lu'd:oﬂhefoliowingstalemehtis’i:md?
(A) Permanent terraced cultivation is supernior to the most widely used Jhum Cultivation.

(B) Timber exploitation for export as also Jhum cultivation resulted in a near-crisis
deforestation.

(C) The marriage of Nagas within the clan is given preference.
(D) In modemn times, morungs have fallen into disuse.

Mount saramati’s range forms a natural barrer Nagaland and :
(A) Arunachal Pradesh (B) Assam
{C) Myanmar (D) Manipur

What are the cells that circulate within the body and plug the leaks of blood by helping to
clot the blood at the points of injury ?

(A) WBC (B) RBC (C) Platelets (D) Insulin
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70. The river which frequently shifts its course is :
(A) Narmada (B) Kosi (C) Damodar (D) Yamuna

71.  Eleventh schedule of the constitution relating to Panchayati Raj contains :
(A) 18 items (B) 29 items (C) 19 items (D) 25 items

72. Which of the following texts of Amir Khusro describes the conquests of Deccan ?
(A) Matha - i - Saadain (B) Futooh - ul - Salatin
(C) Khazain - ul - Futooh (D) Tughlug Nama

73. Into how many major Agro - Climatic zones India is divided.
(A) 10 (B) 12 (C) 15 (D) 20

74. The value of trigonometric expression 9 sec?A -9 tan?A is :
(Aa) 1 (B) 9 © 8 (D) 0

75. A music file format among the following is :
(A) PG (B) MP3 (C) GIF (D) PDF

76. Third generation computers use :
(A) Transisters (B) Vacuum tubes
(C) Integrated chips (D) Neither

77.  In the following figure, the area of the smaller square is one third of the larger square. Then

L
y

ﬁz-l ®) J§4-1 © J§2+1 D) J54+1

(A)

78. An interim Government was formed in 1946 under the leadership of :

(A) Rajagopala Chari (B) Rajendra Prasad
(C) Jawaharlal Nehru (D) Vallabhbhai Patel
B 9 SCSP-14
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79. Tolkappiyam was a tamil text on ;
(A) Poetry (B) Grammer (C) Short stories (D) Religion
80. The real number x satisfying 2 —=2*"2=192 is ;
(A) 7 ® 8 € 9 (D) 10
81. If fix)=2% then 16%=
(A) Aif5)) (B) fR3) € f7) (D) RAAG)
82. A semicircle is inscribed in an equilateral triangle as shown below. What portion of the
triangle lies inside the semicircle ?
3 V3 V3
(A) o ® = © =i (D) =3
83. Who of the following designed Tajmahal ?
(A) Ustad Mansur (B) Ustad Isa (C) Ustad Rana (D) Ustad Jameel
84. Collective responsibility of the cabinet was introduced in India by the :
(A) Govt. of India Act 1935 (B) Minto - Morley Reforms
(C) Independence Act, 1947 (D) Constitution of India
85. Two players, Sangeetha and Reshma, play a tennis match. The probability of Sangeetha
winning the match is 0.62. What is the probability of Reshma winning the match ?
(A) 0.62 (B) 0.38 (C) 99.38 (D) 38
86. Who among the following proposed the ‘safety valve theory” ?
(A) Lytton (B) Rippon (C) Dufferin (D) Hume
87. Who among the following fixes the salaries and allowances of speaker of Lok Sabha ?
(A) President (B) Council of Ministers
(C) Cabinet (D) Parliament
SCSP-14 10 B
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88. Which one of the following five years plans recognised human development as the core of all
development party ?

(A) The Eighth five year plan (B) The Ninth five year plan
(C) The Sixth five year plan (D) The seventh five year plan

89. Reservation of seats for women in Panchayati Raj bodies seeks to ensure -
(A) Economic welfare of women
(B) Gender parity in rural society
(C) Participation of women in public life
(D) Empowerment of women as an individual

90. Name the Mughal Ruler who introduced Mansabdari system ?
(A) Humayun (B) Shershah (C) Akbar (D) Jahangir

91.  Which of the following was the English East India Company’s Southern Head Quarters ?
(A) Fort St. David (B}  Fort St. Williams
(C) Fort St. George (D) Fort St. James

92. A pointing device, in a computer system, among the following is :
(A) VDU (B) plotter (C) mouse (D) keyboard

93. With which conspiracy case Bhagat Singh was tried by the British ?
(A) Kanpur (B) Lahore (C) Karachi (D) Delhi

94.  Who among the following rulers issued the famous ‘Uttaramerur’ inscription ?
(A) Vijayaraya (B) Rajaraja (C) Rajendra (D) Parantaka

95. The State Animal of Nagaland is :
(A) Sambar (B) Gaur (€) Hoolock gibbon (D) Sangai

96. Jacobin club at Srirangapatnam was established by :
(A) Napolean (B) Hyder Ali (C) Cod. Bussey (D) Tipu Sultan

97. The increasing order of the memory units.
TB, MB, GB, KB is :

(A) KB,GB, MB, TB (B) KB, MB, GB, TB
(C) KB, MB, TB, GB (D) TB, GB, MB, KB
B 11 SCSP-14
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98. At the time of short circuit, the current in the circuit :
(A) reduces substantially (B) does not change
(C) increases heavily (D)} vary continuously
99. Salisa :
(A) Soft wood (B) Hard weed (C) Reed (D) Swamp
100. The Piedmount areas of Himalayas are covered by :
(A) Peaty soils (B) Marshy soils (C) Teraisoils (D) Forestsoils
101. The Rajya Sabha can be dissolved by :
(A) Lok Sabha (B) President
(C) Constitutional ammendment (D) None of the above
102. The smallest integer of the form p% gP where p, q are prime numbers, is :
(A) 5184 (B) 72 (C) 1 (D) 648
103. An atom has electronic configuration 2, 8, 7. To which of the following elements would it be
chemically similar.
(A) N (B) F (C) P (D) Ar
104. Match List-1 (Names of the Tribes) and List-2 (Their Festivals) and choose the correct answer
from the codes given below :
List-1 List-2
(a) Angami (i) Moatsu
(b) Ao (i) Nyaknylum
{c) Chakhesung (iii)  Sekrenyi
(d) Chang {iv) Sukhenyie
| codes :
' @@ () () (4
(A) @) 6 ) o)
B @) @ @ )
© O @ O G
(D) @) () (v) @)
105. A box contains 3 blue, 2 white and 4 red marbles. If marbles drawn at random from the box,
the probability of blue marbles will be :
2 2 1 4
(A 3 ® 3 < 3 O 3
Q.No. | 98 | 99 | 100 | 101 | 102 | 103 | 104 | 105
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The beautiful catholic cathedral of Kohima, built in the memory of World War-II fights in
Kohima, was built between 1986-1991 with the help of the :

(A) British Investors (B) Korean Investors
(C) Japanese Investors (D) Chinese Investors

Which of the following sentences is incorrect ?

(A) Konyaks are divided into two categories, the Thenkoh and the Thendu.
(B) In Thenkoh morung is the largest building,

(C) InThendu ang’s house is the largest building.

(D) Thenkoh are autocratic.

Match List-1 (Nagaland is bounded by ........ yand List-2 (on the ........ ) and choose the correct
option from the codes given below :

List-1 List-2
fa) Myanmar ' (i) West
(b) Arunachal Pradesh (i) South
(c) Assam (i) North
{d) Manipur (iv) East
codes :

(@ (b) () (d)
(A) @) Gi) Gv) ()
® @) @ @) (v)
€ (v) (i) (i) ()
(D) () @) () ()

The main aim of National Forestry Action Programme is to bring area under
forest cover,

(A) one fifth (B) one third (C) one fourth (D) two third

The Hornbill Festival, conceived by the Tourist Department, is held in the month of :
(A) February (B) April (C) May (D) December

Smail Hydro - Electric Power Projects provide about ___ percent of the Power in
Nagaland.

(A) 10 (B) 20 (© 30 (D) 40

In which year the Vernacular Press Act was passed ?
(A) 1876 (B) 1877 (C) 1878 (D) 1879
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Who among the following was a bhakti reformer in Brahmaputra Valley ?
(A) Sankardeva (B) Sundardas (C) Birbhan (D) Dadu Dayal

Which of the following sentences is incorrect 7

(A) Physically, the Nagas are predominantly Mongoloid.

(B) Naga Scholar Henry Balfour was a museum curator.

(C) The youth’s dormitory in Nagaland is called Khel.

(D) The area around the morung is a social centre’ for the Khel.

Which of the following methods is suitable for preventing an iron frying pan from rusting ?
(A) Applying grease (B) Applying paint
(C) Applying a coating of zinc (D) All the above

10° channel separates :

(A) Andaman and Nicobar (B) India and Srilanka

(C) Lakshadweep Islands (D) Off Shore Islands

Which schedule of Indian constitution is not subject to judicial Review ?
(A) First schedule (B) Seventh schedule

(C) Ninth schedule (D) Eight schedule

Aravallis are a part of :
(A) South Central Highlands (B) North Central Highlands
(C) Eastern Plateaus (D) Meghalaya Upland

Ashok Mehta committee recommended for the establishment of :
(A) Nagar panchayat (B) Panchayath samithi
(C) Mandal panchayat (D) Gram panchayat

Nagaland has niche market in India and Foreign Countries for their unique :
(A) Angami Jwellery

(B) Canework baskets for carrying and storing grain

(C) Carved wooden food dishes

(D) All of the above

121. Nagaland comes under the jurisdiction of Gwahati High Court with a circuit bench at :
(A) Mon {B) Dimapur (C) Kohima (D) Mokokchung
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128.

129.

130.

Which of the following has banned floor crossing by the members elected on a party ticket to
the legislature ?

(A) 52" Constitution Ammendment Act (B) National Security Act
(C) People’s Representation Act (D) Maintenance of Internal Secunty Act

Which of the following human organ produces significant magnetic field ?
(A) Kidney (B) [Liver (C) Lungs (D) Brain

Which of the following sentences is incorrect ?

(A) By the Tragopan, very colourful cock, found only at phek

(B) NH 39 is the sole National Highway in Nagaland.

(C) Themezie Project is a National Project for Irrigation.

(D) Naga dance and music mostly eulogise bravery, beauty, love and generousity.

. Who among the following rulers issued the ‘Motupalli Abhayasasanam’ ?

(A) Rudradeva (B) Ganapathideva
(C) Rudramadevi (D) Prataparudra

Judicial Review in the Indian Constitution is based on :
(A) Procedure established by Law  (B) Due process of Law
(C) Rule of Law (D) Precedents of Conventions

In which year the age of Consent Bill was passed ?
(A) 1890 (B) 1891 (©) 1892 (D) 1893

A group of Nagas who had returned from military services in France, formed the Naga Club
in the year :

(A) 1990 (B) 1918 (€ 1992 (D) 1993

Mayurakshi Project is located in :
(A) Assam (B) WestBengal (C) Orissa (D) Tripura

T TP | 1
——t—t —=
6 12 20 2013 x 2014
1005 502 503 1005
(A) 2014 (B) 1007 © 1007 (D) 2013
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131. Village panchayat is accountable to the :
(A) Panchayat samithi (B) Zilla parishad
(C) Chairman of village panchayat (D) None of the above

132. Which is bigger number among the following ?
} 3.311 1
33,44,55,88,77

1 1 1 1

(A) 33 (B) 55 © 77 (D) g8

133. Number of districts in Nagaland is :

(A) 10 (B) 11 (€ 12 (D) 13
134. If a person suffering from HIV infection is affected,
(A) Brain (B) Kidneys (C) Immune System (D) Blood

135. Which of the following is not a part of the female reproductive system in human beings ?

(A) Ovary (B) Uterus (C) Vas deferens (D) Fallopian tube
136. The twinkling of a star is due to of starlight.

(A) Tyndall effect (B) Atmospheric refraction

{C) SONAR (D) Dispersion

137. Area of a sector of angle 45° of a circle of radius 7 meters is :
(A) 67 square meters (B) 38.5 square meters
(C) 19.25 square meters (D) None of the above

138. Singer Naro, who won the “Naga Idol’ contest in 2008, belongs to the tribe :
(A) Ao Naga (B) Sema Naga (C) Konyak Naga (D) Angami Naga

139. The power to decide an election petition is vested in the :
{A) Parliament (B) Supreme court
(C) High courts (D) Election commission

140. Who among the following was not associated with Indian National Army ?

(A) General Mohan Singh (B) Rashbehari Ghosh
(C) Rashbehari Bose (D) Lakshmi Sehgal
SCSP-14 16
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141.

142,

143.
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145.
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149.

J14 2+ V2 =

(a) 3 B) 3 © 4 (D) 2

The family deity of Badami - Chalukyas was :
(A) Saraswathi (B) Lakshmi (C) Parvathi (D) Hariti

In which year congress passed purna swaraj resolution ?
(A) 1926 (By 1927 (C) 1928 (D) 1929

Which of the following is a plant hormone ?
(A) Insulin (B) Thyroxin (C) OQestrogen (D) Cytokinin

Who among the following was first Chairman of Planning Commission ?
(A) Dr. Rajendra Prasad (B) C. D. Deshmukh
(C) Jawaharlal Nehru (D) Sardar Vallabbhai Patel

If a person elected to both the Union Parliament and a State Legislature does not vacate his
seat in State legislature within the stipulated period, then :

(A) His seat in the parliament will become vacant.

(B) Both seats will become vacant.

(C) His seat in the state legislature automatically becomes vacant.
(D) - He may be debarred from contesting elections in future.

Which of the following statements is correct ?

(A) Nagaland is the 18" state of India and was established in December, 1963.
(B) Nagaland is the 16" state of India and was established in December, 1963.
(C) Nagaland is the 16" state of India and was established in August, 1962
(D) None of the above.

In which year Hindu Widow's Remarriage Act was passed ?
(A) 1855 (B) 1856 (C) 1857 (D) 1858

Which group do the black soils belong ?
(A) Alluvial (B) Chernozem (C) Lateritic (D) Podzolic
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150. Which of the following devices can hold the most data ?
(A) CD-ROM (B) CD-R (C) DVD (D) Blue Ray Disc

151. Which of the following cannot be expressed as the sum of three consecutive integers ?
(A) 18 (B) 24 (C) 28 (D) 33

152. In which language ‘Baburnama’ was written ?
(A) Baluchi (B) Persian (C) Turkish (D) Urdu

153. Which one of the following languages is not the state language of Nagaland 7
(A) Chang (B) Garo (C) Konyak (D) Chakhesang

154. Macaulay’s Minute was associated with :
(A) English as medium of instruction (B) Teaching in Vernacular languages
(C) Teaching in Persian (D) Teaching in Sanskrit

155. Who among the following opposed the Partition of Bengal but later on became a Sanyasi ?
(A) Lajpat Rai (B) Bhupen Dutt
(C) Barindra Ghosh (D) Aurobindo Ghosh

156. An operating system among the following is :
(A) Linux (B) Word (C) Notepad (D) Clipboard

157. The source of winter rains in Northern plains is the :
(A) Retreating monsoon (B) Westerly depression
(C) Southwest monsoon (D) Easterly depression

158. Servants of India Society was founded by :
(A) HG. Ranade (B) Lala Lajpatrai (C) G.K. Gokhale (D) KT. Telang

159. Which state leads in the production of Mica is ?
(A) Tamil Nadu (B) Bihar (C) Rajasthan (D) Andhra Pradesh

160. While cooking, if the bottom of the vessel is getting blackened on the outside, it means that :

(A) The food is not cooked properly (B)  The fuel is not burning completely
(C) The fuel is wet (D) The fuel is burning completely
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The following data gives information pertaining to membership in three clubs A, B and C. There
are 15 members in the club A, 18 in club B, and 23 in club C ; there are 6 members who appear in
both A and B, 5 appear in A and C, 7 appear in B and C and 2 members appear in all the three
clubs.

Based on this data, answer the questions 161 to 164.

161. The number of members who belong to exactly one of the clubs is :
(A) 24 (B) 26 (C) 28 (D) 30

162. The total number of members in all the clubs put together is :
(A) 36 (B) 38 (C) 40 (D) 42

163. The number of members who exclusively belong to the club A (but not in other clubs) is :
A) 6 ® 7 € 8 (D) 9

164. The number of members who belong to exactly any two of the three clubs, is :
(A) 8 (B) 10 (C) 12 (D) 14

The following Pie Chart gives the information pertaining to monthly expenditure towards various
heads : Food (F), Clothing (C), House rent (H), Education (E), Savings (S), Miscellaneous (M).
If the person’s monthly income is Rs. 72,000, then answer the following question from 165 to 167
based on this information.

o/

165. The amount (in Rs.) spent on Education and Food is :
(A) 24,000 (B) 27,000 (C) 30,000 (D) 36,000

166. Monthly Miscellaneous expenditure (in Rs.) is :
(A) 7,000 (B) 6,000 (C) 5,000 (D) 4,000

167. Monthly house rent (in Rs.) is :

(A) 800 (B) 8,000 (€) 600 (D) 6,000
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168. Mutual Funds are regulated in India by which among the following, :
(A) SEBI (B) RBI (C) Stock Exchange (D) SIDBI
169. FIFA world cup - 2014 will be held in which of the following countries ?
(A) Brazil (B) TItaly (C) France (D) Australia
170. Which place India stood at ranking in Global Corruption Perception Index 2013 ?
(A) 94 (B) 100 (C) 89 (D) 56
171. India’s highest Mountain Peak is :
(A) Mt Everest (B) Abu Gamin (C) Kanchenjunga (D) Dodda Betta
172. Matteo Renzi became the youngest PM of which among the following countries ?
(A) Egypt (B) Ttaly (C) Tunisia (D) France
173. Officially which among the following disease has been eradicated in India as it marked three
years since its last case was reported.
(A) Cancer (B) Malaria (C) Polio (D) Paralysis
174. Bimal Jalan Panel was appointed to :
(A) investigate Coal Scam.
(B) scrutinize applications for new Banking Licences.
(C) review recommendations of Gadgil Report.
(D) find out alternative performance appraisal system for bank staff.
175. The new Chief Justice of India is :
(A) Sadashivam (B) Ismail
(C) Rajendra Mal Lodha (D) Subhashan Reddy
176. Which among the following state is famous for Char Dham Yatra ?
(A) Uttarakhand {B) Jharkhand
(C) Andhra Pradesh (D) Tamil Nadu
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177. I x s y=22+y?—xy, then (—3) » 4=
(A) 36 (B) 37 (C) 38 (D) 39
178. Which among the following communities will now be included in list of minority
community ?
(A) Mochi (B) Jain (C) Buddhist (D) Tibetan
179. Who is the author of the book “Crusader or Conspirator ? Coalgate and other Truths” ?
(A) PC Parakh (B) Sommath Chaterji
(C) Indira Goswami (D) Shashi Tharoor
180. Famous Hindi writer has been choosen for the esteemed Vyas-samman for the
year 2013,
(A) Javed Akthar (B) Vishwanath Tripathi
(C) Arun Kanth (D) Giriraj
181. When the Human Rights day is observed every year ?
(A) December 9 (B) January 5 (C) December 10 (D) November 10
182. Who among the following bollywood lyricists and script writers has been chosen for the
year 2013 Sahitya Academy Award ?
(A) Mridula Garg (B) Subodh Sarkar (C) Javed Akthar (D) Prasoon sen
183. Country : President : : State ;
(A) Chief Minister (B) Governor
(C) Cabinet Minister (D) Prime Minister
184. Who among the following scientist has received Bharat Ratna ?
(A) M.S. Swaminathan (B) Prof. Yashpal
(C) Prof. CNR. Raoc (D) Chandrashekar
185. Rota Virus is associated with which among the following :
(A) Cerebral palsy (B) Autism (C) Paralysis (D) Diarrhea
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186. Who among the following is not a member of G7 (G8) Group of Nations ?
(A) [taly (B) Germany (C) Japan (D) China
187. Polavaram project is proposed to be constructed on which among the following river ?
(A) Ganga (B) Krishna (C) Godavari (D) Kaveri
188. Who among the following is the new Chief Information Commissioner (CIC) ?
(A) Leena Mehendale (B) Banwar Lal
{C) Satyananda Mishra (D) Sushma Singh
189. Which among the following Indian Navy’s submarines was in news recently for accidents ?
(A) INS Sindhugosh (B) INS Airavat (C) INS Kolkata (D) INS Sagar
190. Jaitapur Nuclear Power Plant (JNPP) was set up with collaboration of India and
(A) Japan (B) France (C) Russia (D) Australia
i
191. Who is the Chairperson of the National Women Bank ?
’ (A) Chadda Kochher (B) Usha Ananthasubramanian
‘ (C) Rohini (D) Rukmini
192. Which Indian born poet has won the 2014 pulitzer prize in the poetry category ?
. (A) Vijay Seshadri (B) Jamil Ahmed (C) Salman Rusdie (D) Arun Jaitley
|
193. Who among the following is the newly appointed CEO of Micresoft ?
(A) John Thomson (B) Satya Nadella (C) Rukmini (D} Chadha Kocher
194. Arvind Kejriwal, who recently resigned from his post was the of Delhi State.
(A) Governor (B)  Chief Secretary
(C) Cabinet Minister (D) Chief Minister
195. “World Consumer Rights Day” is celebrated every year on :
(A) March - 26 (B) March - 15 (C) March-5 (D) December - 15
196. Who defeated Rafael Nadal in 2014 Australian open men’s singles final ?
(A) Murrey (B) Stanislas Wawrinka
(C) Mahesh Bhupathi (D) Federer
l
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197. The newly formed Telangana State has how many assembly and parliamentary seats ?
(A) 120 and 17 (B) 119 and 17 (C) 134 and 20 (D) 142 and 25

198. The longest under water tunnel of the world will be built by __ beneath the Bohai
sea.
(A) Japan (B) India (C) China (D) Australia

199. Which among the following films has won the Golden Peacock award for the best film at the
44" International Film Festival of India (IFF1) 2013 ?
(A) Apur Panchali {B) Meghe Dhaka Tara
(C) Kanyaka Talkies (D) Beatritz’s War

200. Find the odd word out among the following :
orange, apple, mango, potato, custard apple
(A) custard apple (B) potato (€) mango (D) orange

-olo-
Q.No. | 197 | 198 | 199 | 200

Keys




